BLERNTY2TIAN YL (£HF)

2005/11/13
No. K 4% 45 BE | FERH| FRIEL| RBO | REBOQ | REBQ | REIEM
88 BRENE O E:] FE | 44300 2 B K B i
31 R BB E: FE | 42200 3 =& K K 2
118 R 5= E: FE | 31,700 4 =& K K 3
64 K E E: W& | 46,400 1 =& K x 4
116 AT FE3h E: &/ | 29400 5 =& K x 5
15 4 FE 5 =& | 26,300 6 T K x 6
82 Rk =N E:] 26 26,000 7
42 K% FHE £ BiR | 25600 8
23 BN EE E: BEAR | 25400 9
32 R B8 E:] EE | 24300 10
17 BN A E:] =& | 23700 11
110 WT #EED 5 REXR | 23500 12
16 B RE 5 BEA | 20700 13
69 kA R E:] g L 19,500 14
7 KUE FEAER £ =& | 18200 15
66 HE 52 E: IT]mi 18,000 16
34 1B 2 E:] EE 17,100 17
104 EBE % 5 wn 17,000 18
87 TH XH E: & 16,900 19
102 AalE # E:] PN 15,800 20
9 B & 5 | ERE | 15500 21
100 EH & E:] & 15,500 21
65 HE 2 o | 14,500 23
75 R M CRD R E: L8 | 12800 24
45 #HE NF 5 &8 12,400 25
123 Bhtob(F—T) E: Ri& | 12300 26
10 hx —%& E: REA | 11,800 27
33 FL NN ES S £E 11,700 28
30 ARE FRIE E: =5 | 11,500 29
24 "H A E:] 26 11,300 30
52 R BE E: KR | 10,800 31
36 B EIR E: =1 10,700 32
41 AN L B8 | 10,700 32
7 Il bEX = =1 10,600 34
84 AH EiE E: FE | 10500 35
26 B RE 5 &8 10,400 36
93 WO L &5 10,300 37
6 A #hE E:] 26 10,100 38
62 %6 &8 L B8 | 10,100 38
54 nE £z 5 R 9,800 40
2 T &t E:] 26 9,600 4
12 AT #X E: BE 9,500 42
73 HE &R E: =g 9,300 43
63 XE E—H 5 &8 9,100 44
119 FiE —to E: &8 9,100 44
89 AR = E: x5 8,900 46
39 Ik #7 E:] 26 8,600 47
91 i 5% E:] & 8,500 48
125 hE BX 5 Rz 8,300 49
37 JKIE ¥ E:] = 8,100 50
55 TH BE— 5 2 8,100 50
56 0O RREB 5 2 7,500 52
20 ElACREb E:] & 7,100 53
83 R #— E:] REX 6,700 54
94 O s E: &5 6,500 55
18 h=4—r4L7" E: REX 6,300 56
50 w5 E: iR 6,300 56
58 BE T E:] = 6,200 58
81 e FAE £ 2 6,200 58
101 #HER BR 5 Rz 5,800 60
11 Bk —th 5 &8 5,400 61
27 i B5 5 &8 5,400 61




BLERNTY2TIAN YL (£HF)

2005/11/13
No. K 4% 45 BE | FERH| FRIEL| RBO | REBOQ | REBQ | REIEM
80 fotEE F 5 2 5,300 63
22 BH XF S REA 5,200 64
57 Kk E:] = 5,200 64
105 kM REx = A 5,100 66
29 ENEE L &5 5,100 66
77 & - 5 REA 4,900 68
115 K& A—# 5 Rig 4,900 68
117 Bl R L g 4,900 68
114 XH KT L B 4,800 71
120 Rk EH 5 &8 4,800 7
70 & EF & L8 4,600 73
95 it K& L g 4,600 73
4 BHK BAx S & 4,500 75
38 BR Mz E:] REX 4,400 76
67 I BE E: & 4,400 76
28 i fnE 5 &5 4,200 78
59 K& fE— E:] iR 4,200 78
127 =R B 5 wn 4,100 80
103 e Eth E:] Rig 4,100 80
43 Wk SR L g 4,000 82
86 B Eth E:] 26 4,000 82
47 [l = Jtim&E | 3900 84
107 KN RR £ g 3,800 85
97 BIE BR £ g 3,600 86
98 pro{m 5 Rig 3,600 86
40 BRE RE 5 &8 3,500 88
74 L 23 E:] = 3,500 88
68 IR AE 5 Rig 3,400 90
35 X 5E = EE 3,300 91
13 FH OERL E: BE 3,300 91
60 R HWF & B | 3200 93
79 ) EE E:] &8 3,200 93
5 HT EM L A5 3,100 95
126 TR z2YR S Rz 3,000 96
113 it E: =1 3,000 96
46 FH EF S 2 2,800 98
129 2 ZE 5 &8 2,800 98
90 b= 111 =1ie = Rig 2,700 100
128 [FE ®AEF = A 2,700 100
121 KRR #H8 5 &8 2,700 100
106 Al #&F = wn 2,600 103
49 2R fE—8 5 & 2,400 104
14 L#E BN E BE 2,400 104
72 BH FT E: =g 2,200 106
109 % mE L BEXR 2,200 106
8 FLE pHY S & 2,100 108
85 L Fo 5 &8 2,100 108
25 HX Bt 5 &8 2,000 110
92 KM =iEF S £E 1,800 111
96 I XF & R 1,800 111
112 ERK B2 E:] Rz 1,600 113
61 AR BUA E: REA 1,500 114
108 wL fEXER 5 REA 1,500 114
76 ED E=F = =7 1,400 116
124 rE BF 5 Rz 1,200 17
111 [11=: I 5 Rz 800 118
53 K mAE % KR 700 119
122 3t & E:] Rz 700 119
99 x BF S & 300 121
19 AR =F = REA 200 122




